HOE ol & A & Al A
2008E = =0l & L EHS
SN X =2
HETHOH - THE Ol R =7 X
Chol: THoh - Tt o) 2 =3 X (Et9i: #3)
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
Xl == TH 86, 682, 273 77,291, 024 9, 391, 249
ol - et oleg & =7 X 74, 036, 220 65, 068, 760 8, 967, 460
THOH - THEH ol & =5 X& 74, 036, 220 65, 068, 760 8, 967, 460
ol &S XN & 37,667, 000 32, 170, 000 5,497,000
401 Al EHIZ204Y| 37, 667, 000 32,170, 000 5, 497,000
02 &AL 1, 000, 000 500, 000 500, 000
OxoHASXINEAE AAIEAH(4XIF) = 1, 000, 000
04 Al&HI 36, 532, 000 31, 560, 000 4,972,000
ORI S4B (HASXME) = 5, 000, 000
Ozl &SXINL(IHREE 5,000, 000& &) = 31, 532, 000
[ 21,919, 000]
(& 613, 000]
[Xl 9, 000, 000]
06 AlZ=0HYI 135, 000 110, 000 25, 000
O=di&&sXHd = 135, 000
(2 81, 000]
(& 54, 000]
MoHAE X+ Ul K& 17, 600, 000 16, 338, 500 1, 261, 500
403 XM SA201H 17,600, 000 16, 338, 500 1, 261, 500
01 XXHHMA2EEX 17, 600, 000 16, 338, 500 1, 261, 500
O E X2 HEBIAH (17X )
22, 000, 000, 000 *80% = 17,600, 000
[2 13, 200, 000]
(& 4, 400, 000]
SteE4 ¥ FH| XA 9, 800, 000 8, 640, 000 1, 160, 000
403 UXISHHSAH201H 9, 800, 000 8, 640, 000 1,160, 000
01 AXSHHX2EE 9, 800, 000 8, 640, 000 1,160, 000
Odt=&E4 L FUI(17X17) = 9, 800, 000
(2 9, 800, 000]
20t™ FHIALY K& 8, 153, 622 7,300, 000 853, 622
403 XXM SA201H 8, 153, 622 7, 300, 000 853, 622
01 XXSHHA2EEX 8, 153, 622 7,300, 000 853, 622




S AR 2= ot

S THoH - T Of
Pl JHoH - et Of

% 2 =7 K
% 9 =3 T8

SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
OAoHE FHIAMH(16MAIZ) 27,178, 740, 000x30% = 8, 153, 622
8, 153, 622]
=L HH S 111, 900 96, 160 15, 740
201 LBr2E| 53, 500 40, 160 13, 340
01 AtR2teldl 48, 500 35, 480 13, 020
OArR2teld] 48, 500
-2 Bt=ZH| = 11, 500
-= gl = 19, 500
=3+ = 17,500
02 23293l 5, 000 4, 680 320
OZ232= 2 MAl = 5,000
202 044l 51, 000 51, 000 0
01 =3LHObI 51, 000 51, 000 0
OX==2HH R =& = 51,000
203 Y=l 5, 000 5, 000 0
03 AHFAHRSFZIY| 5, 000 5, 000 0
OX==2HH R F& = 5,000
301 LEtE Az 2,400 0 2,400
12 JIEtEA3 2,400 0 2,400
O=di=+ "3 2& = 2,400
MMM =R a8 2 165, 834 89, 000 76,834
201 et 45, 834 9, 000 36, 834
01 AtR2teld 10, 000 9, 000 1,000
Oget=Z| = 5,000
O=&t| = 5, 000
02 232943l 35, 834 0 35, 834
OAEEHIRX b = 35, 834
401 Al ZHIZL 204 90, 000 80, 000 10, 000
04 Al&HI 90, 000 80, 000 10, 000
OJla2=Zd| SHEIHEASY 500,000 180004 = 90, 000
405 KHAHF SH| 30, 000 0 30, 000
01 XML ESEH=HI 30, 000 0 30, 000




S AR 2= ot

6, 064

HE:Toh - WE oY o =7 KW
Pl JHOH - MHE ol S S AR (& M
SH B A(SH) - O & 5 i &t o 2
Ostatglog ZHl 7 (=2 30, 000
L SotNetaEd =0 30, 200 30, 200
201 Bt23d| 4, 600 4, 600
01 AtRzteld] 4,600 4,600
Oget=EZH] 2,800
O=&t| 1,800
202 O4dl 4,800 4,800
01 =UWObI 4,800 4, 800
O=2U Al 4, 800
308 KXIHHSOIH 20, 800 20, 800
01 XXNEHBLEELS 20, 800 20, 800
Oeteet=Se&d 16, 000, O00& *2A| =2 *65% = 20, 800
= 16, 000]
[ 4, 800]
SToll28 MY K& 264, 000 228, 900
308 KXIHHSOIH 264, 000 228, 900
01 XXNEHBLELS 264, 000 228, 900
OS2 MY 880, 000, 000& *30% = 264, 000
CHIOOH At &elz2tel RIRAY 43, 664 43, 664
201 Ler2d 36, 000 36, 000
01 AtR2teldl 36, 000 36, 000
Oo23g| 36, 000
“AEAE RS 20, 000
= 10, 000]
= 10, 000]
NEQUTG 16, 000
= 8, 000]
(& 8, 000]
301 Lot A= 7,664 7,664
10 AIAHIE&= 7,664 7,664
OaE N 7,664




=

ENE= N )y

2ol - e ol 2 =7 XA
&t XHoll - KHEF Oll8r & =3 A (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
(=2 3, 032]
= 3,032]
=3 =0l = 1,600
(= 800]
== 800]
SEAEZHALE AFXE 200, 000 400, 000 A 200,000
403 XXM S K201 ™ 200, 000 400, 000 A 200,000
01 XXHHA=2EX 200, 000 400, 000 A 200, 000
OSEa=2NALAE =X 500, 000, 000*40% = 200, 000
(= 200, 000]
MPE S (X 4=2Hah 5,972, 493 5, 452, 704 519, 789
LHEHH K= 5,972,493 5,452,704 519, 789
Mete D2 d&E32 5,972,493 5,452,704 519, 789
02 JI=HEZ 5,972,493 5, 452, 704 519, 789
01 JIsdE=3 5,972,493 5,452,704 519, 789
OMt2eIIZ 85 = 5,972,493
of& - & XIE FHl 2 O 6, 660, 000 6, 756, 000 A 96, 000
otd FHl ¥ ¥ =HXY Fdl 6, 660, 000 6, 756, 000 A 96, 000
o FHEIY XA 3, 086, 000 3, 086, 000 0
403 AtXISHHSA201H 3, 086, 000 3, 086, 000 0
01 XXHHA=2EX 3, 086, 000 3, 086, 000 0
OYFHII A = 3, 086, 000
(=2 1, 524, 000]
(2 1, 562, 000]
ofd JHE= ¥ HHIX&A 2,093, 000 1, 460, 000 633, 000
403 XX SHSA201H 2,093, 000 1, 460, 000 633, 000
01 XXHHA=2EX 2,093, 000 1, 460, 000 633, 000
OdtEF X2+ 1,200, 000, 000& *30% = 360, 000
Oaer a2z FHH| 200, 000, 000& *50% = 100, 000
Oror 2EAGHAE EHI 100, 000, 000& *50% = 50, 000
Odor WHEAZHI 160, 000, 000& *50% = 80, 000
OO0tat &= A0 EH| 100, 000, 000& *50% = 50, 000
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zgigggéﬂﬂﬂﬁ Hl & O
CPliohA MMl 9 @ FSX Hi| (o ®
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
OO0tah o & A5t JH| 60, 000, 000& *50% = 30, 000
OO0tet S A6t EH| 40, 000, 000& *50% = 20, 000
OOtat NIEAotE EH| 100, 000, 000& *50% = 50, 000
OZ4& Z=A0HEEH| 476, 000, 000 *50% = 238, 000
Ozt FelAstEE| 40, 000, 000& *50% = 20, 000
O34 ==L2otdEH| 100, 000, 000& *50% = 50, 000
O 24 FH| 800, 000, 0002 *50% = 400, 000
O EA&EFH| 1, 200, 000, 000& *50% = 600, 000
OMAE EAGHE EHI 40, 000, 000& *50% = 20, 000
OEHeH LHEEASHAE FHI 50, 000, 000& *50% = 25, 000
Ot Zte| A Ef E AL K& 1,481, 000 2,210,000 AT729,000
308 AXIHH SO 1,481, 000 2,210,000 AT729,000
01 AXNSHHBANEES 231, 000 210, 000 21,000
OHERX020 HE 28I =8
330, 000, 000& *70% = 231,000
02 H=+u=23 1,250, 000 2, 000, 000 A750, 000
OctaMEZ E=1RS3 2,500, 000, 000 *50% = 1, 250, 000
Y2 ZHI(XI=LTHD) 13, 560 13, 560 0
QI 2AH| 4,200 4,200 0
ol 2F A 4,200 4, 200 0
203 Y =&Y| 4,200 4, 200 0
04 RN2IIRFEIL| 4,200 4,200 0
ORI == TH 2t = 4,200
JI2gl( X=X 9, 360 9, 360 0
Jl=2Z 4 9, 360 9, 360 0
201 LBt AE| 9, 360 9, 360 0
01 AtR2teldl 9, 360 9, 360 0
Oget=Z| = 9, 360




